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Question Number : 1 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

|
A quantity fis givenby f = ﬁl‘II

1.5

where

G

cisspeed of light, Guniversal gravitational
constant and h is the Planck’s constant.

Dimension of fis that of :
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Question Number : 2 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

—

raY o
Consider a force F = —x1i + ¥y - The

work done by this force in moving a particle
from point A(1, 0) to B(0, 1) along the line
segment is :

(all quantities are in SI units)
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Two particles of equal mass m have

LN
respective initial velocities ui and

u{I ;_ ’TW. They collide completely
/

inelastically. The energy lost in the process

is :
Options:
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Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Three solid spheres each of mass m and
diameter d are stuck together such that the
lines connecting the centres form an
equilateral triangle of side of length d. The
ratio [,/1, of moment of inertia I; of the
system about an axis passing the centroid
and about center of any of the spheres I,
and perpendicular to the plane of the
triangle is :

Options: gcollegedunias
||||| s largest Student Review Platform


Stamp


1 23
13
2 15
2
3. 13
15
4 1

Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

99 m 3R =AM d F dF 3" el #9159
AT AT d TS 1 el 5 U SHEE e
T B | 59 B F FeE o e v e
F g U eI 9 A ad1 Bye F oaa &
T FA & Y 38 e # S argu
FO: [, a1, | T/, FAAE :

Options:
E

1 23
13

2 Db

gcollegeduniag
.....


Stamp


53

3_ 13
E
4. B

Question Number : 4 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

m €U el d S L A9 e AUl @il
et M2 sl 8 5 o2l AL Segl sdscl
oyl d dendHl clsg@il sl wuelsy Bisil
olellel 8. Hvdheg izl wauR Acl s 2idasid
s Seetel AU5UEAL T 24 51881 2oL 5 24
st Hudaq ded i ddl =i 2iqasdl
srseetetl AL T, A dl AsHEHL )Rl

I/1, —— il
Options:
13
1. 23
13
2 15
2
3. 13

gcollegedunias
India’s largest Student Review Platform


Stamp


-

15

4 1B

Question Number : 5 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
Abody A of mass m is moving in a circular
orbit of radius R about a planet. Another

m

body B of mass y collides with A with a

ea

velocity which is half = the

z.)

iy
instantaneous velocity © of A. The
collision is completely inelastic. Then, the

combined body :

Options:
Escapes from the Planet’s
1 Gravitational field

Falls vertically downwards towards

2 the planet
3 continues to move in a circular orbit

starts moving in an elliptical orbit

4 around the planet
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Question Number : 6 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Water flows in a horizontal tube (see
figure). The pressure of water changes by
700 Nm ~ 2 between A and B where the area
of cross section are 40 cm® and 20 cm?2,
respectively. Find the rate of flow of water
through the tube.

(density of water =1000 kgm ~?)

A i
et W S DI i T
e
(Fig)
Options:

1 1810 cm? /s
7?2420 cm?/s
3 2720 em’/s

/., 3020 cm®/s
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Options:

1 1810 cm?/s

2 2420 cm?/s

3 2720 cm? /s

4 3020 cm®/s
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Question Number : 7 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which of the following is an equivalent
cyclic process corresponding to the
thermodynamic cyclic given in the figure ?
where, 1 — 2 is adiabatic.

(Graphs are schematic and are not to scale)
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Question Number : 8 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Consider two ideal diatomic gases A and B
at some temperature T. Molecules of the
gas A are rigid, and have a mass m.
Molecules of the gas B have an additional

m
vibrational mode, and have a mass T . The

ratio of the specific heats {Cf} and C%} of
gas A and B, respectively is :
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Question Number : 9 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
Three harmonic waves having equal
frequency v and same intensity I, have

phase angles 0, % and II respectively.

When they are superimposed the intensity
of the resultant wave is close to :

Options:

1. b
9 021
3. %k

4 581,
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Question Number : 10 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Consider asphere of radius R which carries

a uniform charge density p. If a sphere of

s o .
radius E is carved out of it, as shown, the

Sl

ratio

l

of magnitude of electric field

Eg

— —
Ea and Eg, respectively, at points A and
B due to the remaining portion is :

Optiqns :
18
1. 34

21

17

18
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An electric dipole of moment

p =(-i —3] +2k)x 1072 Cm isat the
origin (0, 0, 0). The electric field due to this

dipoleat t = 17 +3] + 5k
(note that T E =0) is parallel to :

Options:

iy

1 3 +2k)
9 (+1 +37 —2k)
3 i+37 —2k)

4

1 (+i —37 - 2k)

Question Number : 11 Question Type: MCQ Option Shuffling: Yes
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A long, straight wire of radius a carries a
current distributed uniformly over its

cross-section. The ratio of the magnetic

a
fields due to the wire at distance E and 2a,

respectively from the axis of the wire is :

Options:
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Question Number : 12 Question Type: MCQ Option Shuffling: Yes
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A charged particle of mass ‘m’ and charge
‘q" moving under the influence of uniform

electric field Ei and a uniform magnetic

field B?c} follows a trajectory from point
PtoQ asshown in figure. The velocities at
P and Q are respectively, zﬂ? and -2:;.
Then which of the following statements
(A, B, C, D) are the correct ? (Trajectory
shown is schematic and not to scale)

i —
E

P (=

T = = B

l o

| -

O3 ——Q X
2v

| 3 mtizw
E=—
(&) 4 { qa |

(B) Rateof work done by the electric field

3 mt:3
atPis 4 3

(C) Rate of work done by both the fields
at Q) is zero

(D) The difference between the
magnitude of angular momentum of
the particle at P and Q is 2 mav.

Options:

1. (&) ®), (© (D)

2. (B)(O, D)

3. (A), (9, D)

4. (4, (8)(©Q
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5 (8,9, D)

3. (4O, D
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Question Number : 14 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The electric fields of two plane

electromagnetic plane waves in vacuumare

given by

E1 =Eyj cos(wt—kx) and

E2 = EO{( cos(wt — ky)

At t=0, a particle of charge q is at origin

with a velocity =08 c} (c is the speed

of light in vaccum). The instantaneous
force experienced by the particle is :

Options:

1 Eoal-08i+ i)
5 Foq 087 + § +02%)

g Eod 047 -37 4 08i]

4. Eod l0.8% — 7+ 0.4k]
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Correct Marks: 4 WrongMarks: 1

gcollegedunias
||||| s largest Student Review Platform


Stamp


o 3 3 Feen Faeg- e et o
e

2] E1 = ED? cos(wt — kx) T4

'—3 ) .

E2 = Egk cos(wt — ky) '

A t=0 T q 39 HTE R ' = 8 ]

(c i@ # v =1 7fa ¥) a1 4 g@fag =
=l T8 2 | Y W Srel a5 ©

Options:

1 By l-087'+ Fof
5 Eoq lo.s7 4 i n.zié)
5 Eod loa? -3 +08k)

4 Foa [j{].:ﬁi? 54 L‘J.J;fé}

Question Number : 14 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
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Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A vessel of depth Zh is half filled with a
liquid of refractive index IEN.E and the
upper half with another liquid of refractive

index /2 . The liquids are immiscible. The
apparent depth of the inner surface of the
bottom of vessel will be :

Options:
h

1. V2

3
2 hf2
4 V2

3 IS £ 1)
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Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 15 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

2h Gad ylddl »is A wise el

V2 aslotadls grieg welldl od & 2 ofla

pistl I 242 aslotEnls dziadt oflsa uadl
b o2 8. Helldll 2ol s, wEd AR
oltl 2igad] wZldl 2vlldl 2ueed Gaud

-,

8.

Options:

gcollegedunias
.....


Stamp


_h
3 2(V2+1)

.

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The aperture diameter of a telescope is
5m. The separation between the moon and
the earth is 4x10° km. With light of
wavelength of 5500 A, the minimum
separation between objects on the surface
of moon, so that they are just resolved, is
close to :

Options:

1. 20m

4. 600 m
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Options:

"|_ 20 m

2_ 60 m

3_ 200 m

4_ 600 m

Question Number : 16 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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Options:
1 20m

2* 60 m

3 200 m
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4. 600m

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A particle moving with kinetic energy E
has de Broglie wavelength A. If energy AE
is added to its energy, the wavelength
become A/2. Value of AE, is:

Options:

1. B

? 2E

4. 4E

Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Question Number : 17 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

E aldGlsd a2 ald sl sl Sl-oiiodl
Al A 8. oA 21 Goddl AE srzel God

GHzal =ud dl d-dl d2odend a/2 i ©.

AE + ¥4 .

Options:

:LE

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Radiation, with wavelength 6561 A falls on
a metal surface to produce photoelectrons.
The electrons are made to enter a uniform
magnetic field of 3x 104 T. If the radius
of the largest circular path followed by the
electrons is 10 mm, the work function of
the metal is close to :

Options:

1. 08eV

7 1leV

gcollegedunias
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3 1lb6eV

4. 18eV

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

T2 6561 A =1 Tafeo U o =t 9ae =
gEdl & #HiT THEE yFHIfue sewid
(P}IDT.DEIEN:T.I‘DIE}%%%W = oAl
TFHAM TEFE &7, 9 77 3104 T
€, T WA U T IHE 5 9 T g9y 92
gHE 99 F B 10 mm ¥ U F FHE
Terd 1 7 fre § 4 former frrean & 2
Options:

1. 08eV

2 1leV

3 l.6eV

4 1.8 eV

Question Number : 18 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

6561 A dvdend sl [Elszel 4 gl 2wl

Yz 2 srell slziddseAl Goulera 2 o,

JARIAIA 3 x 10 4T alvw wisuiA 2etdld sl

ELUIE SYUAAHL 29 8. sl SEls2iA gl LAHelHl

wietcll Hiell AL aduus vl Bett 10 mm

€1l dld - 51 [l Al s 8.
Options:

gcollegedunias
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1. 0.8eV

2. 1lleV

R l.6eV

4, 1.8eV

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If the screw on a screw-gauge is given six
rotations, it moves by 3 mm on the main
scale. If there are 50 divisions on the
circular scale the least count of the screw
gauge is :

Options:

1. 0.01 cm

2' 0.02 mm

3 0.001 cm

4. 0.001 mm

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

T SIS H IS U9 F P 9 g 9 Al
?ﬁﬂ@ﬁﬁﬁﬂ31mnﬁ@@mﬁ%t
afg g™ 9 W 50 9F @ A9 SEe #5
SATqHI TahaT 2rm ?
P collegedunia

Options: y


Stamp


"| : 0.01 cm

2_ 0.02 mm
3 0.001 em
4_ 0.001 mm

Question Number : 19 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

sl 2glarAl el & YRS ML 208l d
WU 3G Y2 3 mm 2q 2idl s Y. sl ddu
¥ YR 50 1ML €l dl gdlerel @grm Wiy
allsa &,

Options:
1 0.01 em

2 0.02 mm
3 0.001 cm

4' 0.001 mm

Question Number : 20 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1
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In the given circuit diagram, a wire is
joining points B and D. The current in this

wire is:

10 g 20

A A s
AT AN

A C
41 3 4

AAAN—L—AAAN,

D
I
20V

Options:

1. ZETO

/. 0D4A

Question Number : 20 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

o= # femr uftas 4 fa<g=ii B siRD #=1 T%
TR B W< T ¥ | TH A% ¥ =8 9ol (9w
T & HH T H 26T

B 2
A C
40 | 30

WAA—LAAAA,
D

Options:
1. ¥
2 2A

Qcollegedunias
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3. 4A

Question Number : 20 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 4 Wrong Marks: 1

2 WAL, 215 dR (G520 B 2 D A sdd
9. Ml usts (Amp 4i)

10 g 20

AN

Options:
1. U

3. 4A

4, 0.4A

Sub-Section Number: 2
Sub-Section 1d: 405036123
Question Shuffling Allowed : Yes

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

gcollegedunias
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The distance x covered by a paritcle in one
dimensional motion varies with time t as
12 =at?+2bt +c. If the acceleration of the
particle depends onx asx ™ ", wherenis an

integer, the value of n is

PR | ¥ © R

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

3to3

Question Number : 21 Question Type: SA
Correct Marks: 4 WrongMarks: 0

U fa9n H =eid g U FU G t 99 H 7
&1 T g x HA 22 =at?+2bt+c F FATER
<t Sl ¥1 AfE FU F =R H o W
x~ " (n UF YUifh &) BRI <t STt & o n H
mE

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

3to3

Question Number : 21 Question Type: SA

Correct Marks: 4 WrongMarks: 0
25 sel-l 215 Rl ala gvsa swid »iae
x HHA t B 2 =at + 2bt+ ¢ LR HEA
5. ot 59 UL x GuR, x ™ MGl 2ER
Aol 6l sedln yels ©, dln 4ed
231,

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers :

3to3

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Qcollegedunias
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One end of a straight uniform 1 m long bar
is pivoted on horizontal table. It is released
from rest when it makes an angle 30° from
the horizontal (see figure). Its angular

speed when it hits the table is given as
Jn s1, where nis an integer. The value

of nis

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

15t0 15

Question Number : 22 Question Type: SA

Correct Marks: 4 WrongMarks: 0

T&h THETH 1 m o=l 32 & UF 590 &
%ﬁﬁlq?ﬁﬁﬁﬁﬂ(pi\rnmdj 2l BEH
#fae fawm T 30° 101 5919 80 fow s 9§
ore 9 § (o3 3d) | 9fz 59 ¥ =
T S HFFOE AT n s (T8 Wn TH
U ¥) E l n FHA © t

o

30

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers :

15t0 15

Question Number : 22 Question Type: SA
Correct Marks: 4 WrongMarks: 0

gcollegeduniag
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1 m alet e Hubia dollu #is 5o
ey eete vz Slasld (esaetsl) sveml »ued
5. o el Wuleildsy B 30° Al 5191 ol
Al dd B R widll Yo szl wud 8,
(2ugld sp2ll). d sR 2ed 2 4R ol
selld 354 Vn s Herot 2L B, sl n A

hp

25 Yells . n o Y 5.

\‘..I
|3D ¥

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

15t0 15

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

A body of mass m=10kg is attached to one
end of a wire of length 0.3 m. The
maximum angular speed (in rad s by with
which it can be rotated about its other end
in space station is (Breaking stress of
wire=4.8 x 107 Nm 2 and area of cross-
section of the wire=10"2 cm?) is :

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
4t04

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

F9M 10 kg &1 TF 95 0.3 m &7 TF a1

FUFBR Y LT &1 AR H a1 F5HE

ot T F =R iR frot sifasam <mia

A (rad s~ ! H) ¥ AT 1 TFHal € ?

(AR=4.8 x107 Nm 2 B9 T 22 941 & &N

THH FATES FE H EAFA=10"2cm? 7)
!

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

gcollegedunias
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Answers Type: Range
Possible Answers::
4t04

Question Number : 23 Question Type: SA
Correct Marks: 4 WrongMarks: 0

m =10 kg AU 215 Rgd 0.3 m Qi dR
Al @5 5% eldd O, 251 2 (Space
station) Hid clled So1 s wuel 530 ob o
We ddl weny sielld 254 (rad s 1 i)
8. (e b ([Eoisrq) ulden

=48x107 Nm 2 2 dlzl 25898 &sas0
=10"2cm? ®.)

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
4t04

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

In a fluorescent lamp choke (a small
transformer) 100 V of reverse voltage is
produced when the choke current changes
uniformly from 0.25 A to 0 in a duration of
0.025 ms. The self-inductance of the choke
(in mH) is estimated to be

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers :

10to 10

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

% yfaars @<l # @0 9% (T Bl
TFEA) H T8 arel faed 9r 19 wenat
0.025 ms H 025 A ¥ TH THF ¥ H T
I 2 W 2 A SEE 100 V 6 faam dreed
der gidl €1 Hl® #1 WUTFA (self-
inductance) T AT mH ¥ faaa 2

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

gcollegeduniag
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Possible Answers:
10to 10

Question Number : 24 Question Type: SA
Correct Marks: 4 WrongMarks: 0

sedlx Als il Al Uelle 0.025 ms AL {20
gl 25 w3l dld 0.25 A 2l 0 eEa B,
St M¥535 (fluorescent) “eY -l AUls
(At 214504 ) 4L 100 V syedl 2o dieesy Geue
Y B, Alsel 2AcHUeL (mH A1) + 2iEmd
Yy 8.

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:
10to 10

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Both the diodes used in the circuit shown
are assumed to be idealand have negligible
resistance when these are forward biased.
Built in potential in each diode is 0.7 V. For
the input voltages shown in the figure, the

voltage (in Volts) at point A is

o
— i
Vin=127V %; av

-

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

12to 12

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

gcollegeduniag
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famrd T uftyy § w3 fF3 T 24 2EE
1 A HH 991 S (FRES) FEy |
ST YfoIY T A | Yol SIS &
HALAHT fa9r==1 (Built-in-potential),
0.7V ¥ fo= # femrdt 7 99 (input)
Fieedl & fad a5 A T dieedl &1 91 (Fiee
)@ |

Vi= 127V 2 4V
]

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

12to 12

Question Number : 25 Question Type: SA
Correct Marks: 4 WrongMarks: 0

Yyl ARl 2usdl i SEISHL 2eRLE
HUIA B 2 sdR il sRAd el dd ol
A2l 2P 2RE 4R 8. g5 SIMLsHL
wid[AMd (built-in) dlvB2AHA 0.7 V 8.
215 [l A By dler 1 [Gg A 2110

dicesy (dieeml) 08,
- S
B <
Vi=127V 2 4V
. 1 <

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

12to 12

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Chemistry

40503676
2

Online
Mandatory
25

25

100
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Sub-Section Number: 1
Sub-Section 1d: 405036124
Question Shuffling Allowed : Yes

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The de Broglie wavelength of an electron
in the 4™ Bohr orbit is :

Options:
1 ] -—1':1'aﬂ

7.

Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

<1eft =R e H U Solag Sl S-anell qires

B
Options:
Ty "%
2. B
3 %
4. 27a,,

gcollegedunias
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Question Number : 26 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

4ol el saml wdl 215 dagindl Sl-ol
Ao el

Options:

1 4~.raﬂ

2* S'rraﬂ

4‘ 2’:1"&{}

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

I[f the magnetic moment of a dioxygen
species is 1.73 B.M, it may be :

Options:

1. O, 0r O

9 O, or .{}Pf

¥
g O3 or O3

. o
4 0,, 05 0r O;

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

TF SEATFIEE TS &1 JFhE AT
1.73 B.M %, g ol Hahdl % i gcqllegeduniag
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Options:
—I O, 941 05

2 O, J9=1 O3

l‘
O, FFE 03

3.

4 O O; ST O3

Question Number : 27 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

25 sl Wl Al deisl asHeE
1.73 BM & dl o €l 25 :

Options:

1. O, *-'1?{':{1.{}2

O, 24l OF
3 O3 MU OF

- v
O, 07 M O3

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If enthalpy of atomisation for Brz{l} is
x k]/mol and bond enthalpy for Br, is
y k] /mol, the relation between them : gco"egeduniag


Stamp


Options:
1 isx=y

2' 5x >y
3' Isx <y

4 does not exist

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A Br,,, F faw F0H T x K /mol @

A1 Br, % foTT 37/=+ T=Iedt i kJ/ mol &1,
F A9F =Y

Options:

-'|_ x=y%}Fﬂ

0, e
3. F<y@m
4. T g

Question Number : 28 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Bryg il wRaeeld 5261 el x kJ/ mol &
4 Br, U2 ¢i8 221l y K /mol 8. dl du-l
42l ey

Options:

Qcollegedunias
.....


Stamp


3 x<y®

4 e, Gzl 2

Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

For following reactions

A 70K _ Product

500 K

catalyst Product

it was found that the E, is decreased by
30 k] /mol in the presence of catalyst. If the
rate remains unchanged, the activation
energy for catalysed reaction is (Assume

pre exponential factor is same) :

Options:
1 105 kJ/ mol

2 135 k]/mol
3 75 k] /mol

4. 198 kJ/mol

Question Number : 29 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 gcollegeduniag
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qE AT A fF ITUIF HT I9rETd H
E,, 30k]/mol # 92 7% | Afg <X rafiafda @
@ Safta sl & fou w@feam =t 2r
(9 TS g SR T S8 R )
Options:

1. 105 kJ/mol

2 135K]/mol

3. 75k/mol

4. 198 kJ/ mol

Question Number : 29 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
AliAl WAl e,

A —TOK . fvey

Ao SOR e
Belus
2y el He 5 GelusHl sl E, wi
30 kJ/mol sredl g2l 2 9. sd Ul =
oEdledl A €1 dl, Galusl wbu wie Al ulbusael
alsd, (Adldl 5 ydadisle wiadd Hud 9.)
3liAl

Options:
1. 105 kJ/mol

gcollegedunias
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23 135 kJ/ mol
3 75 k] /mol

4. 198 kJ/ mol

Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The KEP for the following dissociation is
1.6 x10~°

PbCly) = Pblagy + 2Clag)
Which of the following choices is correct
for a mixture of 300 mL 0.134 M Pb(NO,),
and 100 mL 0.4 M NaCl ?

Options:
1. 2%
2 ” Q = K‘:P

3 Not enough data provided

4. 5

Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

e ferdiror o fordl K, #1 M 16 X105 %,
PbClyg) = Pbing +2ClGq)

0.134 M Pb(NO;), F 300 mL T91 0.4 M
NaCl % 100 mL =1 faa=T == 73 g &
foru =1 § & 19 o1 faeey War 82
Options: chllegedunias


Stamp

Stamp


Question Number : 30 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

AL [Fetlort 2 K, 16%1077 8.

' 2

PbCly(y = Pbag) + 2Cluq)

2 el wrigsllzi Usl 59 215 300 mL

0.134 M Pb{NC'3}2 e 100 mL 0.4 M NaCl
AL BEel we well 5 7

Options:
1. 7%
9 Q=K

] Yl wileld Guasy il

4‘ Q e Ksp

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

gcollegeduniag
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‘X’ melts at low temperature and is a bad
conductor of electricity in both liquid and
solid state. X is:

Options:
1 Zinc sulphide

2 Carbon tetrachloride
3 Silicon carbide

4 Mercury

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

X* = o e foraeran @ aen 59 @9 3 26
e | foamd w1 FaeE 81 X B

Options:

1. &= AewEs

5 T

3 Tuewe FEice

4. v

Question Number : 31 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

X 2L A B § A doedd el

ot Al [EYd Ul vRIeL dles

£ ol X 2LEL

options: P collegedunia


Stamp


1. Gis uestds

2 5l 2ZdRIES

3 [Rfasiq steds

4 wasyil

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

B has a smaller first ionization enthalpy

than Be. Consider the following

statements :

(I)  itis easier to remove 2p electron than
2s electron

(IT)  Zpelectron of B is more shielded from
the nucleus by the inner core of

electrons than the 2s electrons of Be

(ITI) 2s electron has more penetration

power than 2p electron
(IV) atomic radius of B is more than Be
(atomic number B=5, Be=4)
The correct statements are :

Options:

1. (. (1) and (1)
9 (0, (1) and (IV)

9 (1), (1) and (IV)

gcollegedunias
India’s largest Student Review Platform
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4. (D, (I and (IV)

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

B %1 Y99 & T4l Be ¥ FH 21 44

FYE T fgEr Tt
() 2s SeTa2i =1 go | 2p Feraeiq g2l
HAHA E

() Be % 2s Soiaeil &i g1 § B &
2p 1 ot o e | e E At A o B

s I =are) gfafag 2
(TI) 2p Se=2HEl i e H 2s Seiae =i
TE9T W e E

(IV) B =1 TH] 51, Be ¥ =1 £
(9TATY] H&=A1 B=5, Be=4)
A FA T

Options:

1. (D, (D) =0 (II)

5 (D, (1) T (IV)

3 (1), (1) = (IV)

4. (O, () T (V)

Question Number : 32 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

gcollegeduniag
.....


Stamp


B Al My 2Alszel pi-eiedl Be sadl Al .
A2 AL [Sandl sl |l

(M 2p Al 95l 25 L S5zl 52l §3 526l
Al 8.

() B -l 2p gds2i Be Al 25 dA5Zid 53l
il Be2 51l Selsgle b crll 2y saael
94y, 2ollEd ©.

(TI) 25 gAsginl Mg 2B 2p FasgiA s
94, .

(IV) B «l yzsodly Bisadl Be s3cl 49 9.

(uzsiec{ly 54 B=5, Be=4)

W2, su- 20l

Options:

1. (O, () > (1)

9 (D), (@) =4 (IV)

3. (I, (1D >4 (IV)

4, (O, () 24 (V)

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

According to the following diagram, A

reduces BO, when the temperature is :

| |
oo es)
£3. e
o S =

AG®/k] mol ~?

/
capggy ATGeFAGy 7Z—

~1200{ B+O~—>BO,

0 200 400 600 800 10001200 1400 1600

—=T{("C) ;
collegedunias
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Options:
1. <1400°C

9 >1400°C

3 >1200°Cbut <1400°C

4, <1200°C

Question Number : 33 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

7= f= % A19ER A, BO, 1 AT=IT HLl

%?ﬁ! arg % -

— —600

|

=

g —8nd o
'T a

< 1000 A+=.’,’:|1—FM__}2 I —f/—
et e r

=]

— 1200 B+0,—=BO,

0 200 400 600 800 10001200 1400 1600

—*TC)
Options:
1. <1400°C
2 >1400°C

3. > 1200 °C 9% < 1400 °C

4. <1200°C

Question Number : 33 Question Type: MCQ Option Shuffling: Yes Qcollegedunias
Correct Marks: 4 Wrong Marks: 1 It rgest Sadent Revew Platiorm
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Al 2l 2ugld yoret A 2B BO, o Remin
53 6l AMHIA

. —600 }
£ —s00}
iy SFepRey el
A S —
—1200f  B+0O,—»BO,
(0 200 400 600 800 10001200 1300 1600
—T(°C)
Options:
1. <1400°C
2 >1400°C

3. >1200 °C 4EL< 1400°C

4, <1200°C

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The acidic, basic and amphoteric oxides,
respectively, are :

Options:
1. MgO, CLO, ALO,

9 CLO,Ca0,P0y,

gcollegedunias
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4.

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

S, AT 9 SHAYH] SEAES 9

Na,O, SOs, ALO,

Options:

1.

5 NyO;, LiO, ALO;

3.

4. Na0,50;, ALO;

Question Number : 34 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

wifufss, olls 2 Gopppell 2lsudsl w54

MgO, CLO, ALO,

CLO, Ca0, POy,

UL ;

Options:

1.

MgO, CL,0, ALO,

N,O,, Li,0, AL,O4

CLO, CaO, P,0,,

Na,O, SO, ALO,

gcollegeduniag
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Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The compound that cannot act both as
oxidising and reducing agent is :

Options:
1. HNO,

2. 0,

3. I‘L,SC'_3

4, HaFOq

Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

T2 ANTF F ITEEF G991 ATIEF A FH
TE FE T8 H g, © ;

Options:
1. HNO,
2; e
3; Pt
4, HeO

Question Number : 35 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Hdlort 5 o/ 2AUsHIAAGAL 24 (28525l 244
oid ctdls aedl 25l 2l d : Qcollegedunias
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Options:
1. HNO,

7. H,O,

3* I—IFJ.EU'3

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The electronic configurations of bivalent

europium and trivalent cerium are :
(atomic number : Xe=>54, Ce =58, Eu=63)

Options:
1. [Xe] 4f7 6s* and [Xe] 412 6s*

2 [Xe] 42 and [Xe] 417
3 [Xe] 47 and [Xe] 4f

4 [Xe] 4% and [Xe] 4f°

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

o Fftam qwa HeEes diftam F
Torgel e A= € ¢ (TE] HE Xe=54,
Ce=58, Eu=63)

Options:

Qcollegedunias
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1. [Xe] 4f7 6s” 91 [Xe] 412 65>

2 [Xe] 462 T [Xe] 47

3 [Xe] 47 T [Xe] 41!

4. [Xe] 4f* T [Xe] 4f°

Question Number : 36 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

(g oaelet 3R 2t Beula Bl L dasgi-ld
AL 2l (WA 545 Xe=54, Ce =58,
Eu=63)

Options:
1. [Xe]4f7 6s% 24 [Xe] 4f% 65

7 [Xe] 4 2 [Xe] 4F

3. [Xe] 47 2 [Xe] 4f!

4, [Xe] 4f* =t [Xe] 4

*

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

gcollegeduniag
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Complex X of composition Cr(H,0).Cl
has a spin only magnetic moment of
3.83 BM. Itreacts with AgINO; and shows
geometrical isomerism. The IUPAC
nomenclature of X is :

Options:

1. Hexaaqua chromium(Ill) chloride

Tetraaquadichlorido chromium(IV)
? chloride dihydrate

Tetraaquadichlorido chromium(IIT)
3 chloride dihydrate

Dichloridotetraaqua chromium(IV)
4. chloride dihydrate

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Cr(H,0)Cl,, T929 F d@Fa X F1 fom 73

1 TEHE A 3.83 BM B T8 AgNO, F
1y AR Al § SR S SEEged

WA FME X AT I N T H AT
Options:

1. EFECHEHTREA() FEE

SEUFETEEFANEE] FHIHTH(IV) FATES
2 EEEREE

xn =, = =, 'xﬁ {I]]} =
3. SEEEgE

gcollegedunias
||||| s largest Student Review Platform


Stamp


TEFANE ST FIHFH(IV) FANES
4, TR

Question Number : 37 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

dlBeL X o larel Cr(H,0),Cl, 8. ddl 55
2l Yorsld AsHAL 3.83 BM 6. o AgNO,
H12 WAL 52 6 2 olif(ds yHuesdl sl ©,
dl X« TUPAC -Als2¢L 2Wdl :

Options:

1. SspriscusiBem(n) sargs

2215 HsAL S s BE(TV) sdlzds
9 SHsBge

2212051 AR S s L BT selzigs
3 slasge

sesalRl sz s FHu(IV) sdiads
SIS
4. 3¢

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

[PA(F)(CI)(Br)(I)]2~ has n number of
geometrical isomers. Then, the spin-only
magnetic moment and crystal field
stabilisation energy [CFSE] of
[Fe(CN) "¢, respectively, are:

[Note : Ignore the pairing energy]
Options:

gcollegedunias
India’s largest Student Review Platform


Stamp


1 0BMand —24 4,

9 173BMand -204,
9 284BMand ~ 164,

i 592BMand 0

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

[PA(F)(C1)(Br)(D)]2~ & =aqdr= HHETE i
T n 1 T [Fe(CN) " 6 &1 fo A9
TEHE A a1 Tohee &7 T Sl
[CFSE] #9ur: 2 :
[ A2 : grHa Sl 1 SIS S |

Options:

1. OBM T —24 4,

2  L73BM @ —-2.0 4,

3 284BM T -~ 16 A,

il 5.92 BM 410

Question Number : 38 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

gcollegeduniag
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[PA(F)(ClBr)(D)>~ wd ollbilds wuuesiHl
ol n &, dl [Fe(CN) ] © -l 55 24l 2jsld
2l i 2sles w3t RAlsvel Ged [CFSE]
w454 2UE

[ e yllszel God A 2ieiel]

Options:

1. 0BM il 244,

2 173BM 21 —20 4,

g 284BM 2 —164,

4. 5.92BM =10

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Which of these will produce the highest
vield in Friedel Crafts reaction ?

Options:
NH,
e

], ==

gcollegedunias
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CONH,

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Fi=e TR ATafF § w19 § #F HAfusan

IS S 7
Options:
NH,

’-::;H‘

1. S

Question Number : 39 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

gcollegedunias
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efl2l e sl 54l 2is pod sz ulami el
8] Alusy 214217
Options:
NH,
=

|
1* I

Question Number : 40 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The increasing order of basicity for the

following intermediates is (from weak to

strong)
T s
H,C-Co H,C=CH —CH,
I
CHjy
(1) (ii)
s 9 =
HC= E CH; CN
(1ii) (iv) v)

Options: gcollegedunias
||||| s largest Student Review Platform
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1. () < (@) < (iv) < (i) < (i)

9 (v) < (i) < (ii) < (iv) < ()

3 (Hi) < (i) < (i) < (iv) < (v)

4, () < (iv) < (i) < (i) < (v)

Question Number : 40 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 4 WrongMarks: 1

= geafiEi F for afima S Az FH 2
(gda 9 99 ) -
CH
| s
H,C-C & H,C=CH —CH,
|
CH,4
(i) (if)
g g 2
Hc=¢  CH;, CN
(i) (iv) (v)
Options:

1. W) < ()< (iv) < (if) < (i)

2. (v) < (ui) < (i) < (iv) < (i)

3, (D) < (i) < @) < (iv) < (v)

4, (i) < (iv) < (i) < (i) < (v)

Question Number : 40 Question Type: MCQ Option Shuffling: Yes

gcollegedunias
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Correct Marks: 4 WrongMarks: 1
Al Heredaiul Al 4zl 542Ul
([Aeda 2l wean ozs)

CHy _
HC-CO  HC=CH=CH;
CH,
(i) (ii)
HC= E SH; oN
(iii) (iv) (v)

Options:

1. (¥) < (i) < (iv) < (ii) < (iii)

2 (v) < (i) < (if) < (iv) < (i)

3. (Hi) < (i) < (i) < (iv) < (v)

4, (1) < (iv) < (i) < (i) < (v)

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

gcollegedunias
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A chemist has 4 samples of artificial
sweetener A, B, Cand D. To identify these
samples, he performed certain experiments

and noted the following observations :

(i) Aand D both form blue-violet colour
with ninhydrin.

(ii) Lassaigne extract of C gives positive
AgNO; test and negative
Fe,[Fe(CN)g]; test.

(iii) Lassaigne extract of B and D gives
positive sodium nitroprusside test.

Based on these observations which option

is correct ?

Options:
A : Alitame; B : Saccharin;

1 C :Aspartame; D :Sucralose

A : Aspartame; B : Saccharin;
2' C :Sucralose: D : Alitame

A : Aspartame; B : Alitame;
3 C : Saccharin; D : Sucralose

A : Saccharin; B : Alitame;
4 C : Sucralose; D : Aspartame

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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T i & I FHfam TH A, B, C a1

D =1 4 gfoesl €1 59 Wfaesl # TearE F

foru 394 %2 wam &4 991 77 Y=ol 1 92

o

(i) AﬂﬂlDéﬁﬁﬁfgﬁﬁﬁmaw—

= I EA )

(i) C =T E‘i"ﬂ gREd AgNO, & =14
HFHReH® 941 Fey[Fe(CN) ], & 919
TR T 34 2 |

(ii) B 791 D F1 &4 TR dHifzaw
ASZIYHAISS & 1Y FFHRTH T 20T

2
= FEUi ¥ SNE 9 S o fasen TE g2
Options:
A:W;B:W:C:m;
-'|_ D:Wﬁl

A : TPIEN; B : HFAH; C : g,

Question Number : 41 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

gcollegedunla
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2l s[Rz W gBH o ugeEHL 4 Ayl

A,B,CdAD 8. 2 A3rllzAiA 2orial del

Seels wdlll 531 ARkl 2adls-idl Al 53 -

(i) A2 D o Al 1L ol sdeiel
L M B,

(i) C -tdud [esdel eskicus AgNO,
sulel =ud &, B AslRLcHUs
Fe,[Fe(CN)y]; 541l 2ud 8.

(iii) B 24 D « dudd [Hresdel gsricus
Ay AgMEs 5612l =1 8.
GuRlscl 2iedisnAL 2uaR ARl sdi Hsey

ALl 87

Options:

Az wdlew; B : wslH; C o2y

1. D : -‘g}:lﬂ‘bﬁ

A 2eH; B UsElA; C: Ysidls;
2 D: wedley

A oy B owdlew; C 0 dsdlA;
3 D:ysidis

A : ¥58A; B - widly; C o ysidis;
D : 2Ruey
4.

Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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The major product Z obtained in the

following reaction scheme is :

NH,

e NHNDZ/ HC . X CUEB‘:‘E vy
Brf’“'::l“rr,f’ 273278 K

HNO,

—_—

H,SO,

Options:
Br

/J"h-,_
=l |

Br
1 NO,
Br
o,N_ L

Question Number : 42 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
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e sAfaferan =6 | 9 2 A1e 92 30E
Z¥:

NH,

— | NaNO,/HCI X Cu,Br, LY
Br EJ = 273-278 K

HNO;

e T W ?
H,S0,
Options:
Br

)

-

)
Br /H/J

1 NO,

Question Number : 42 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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ARl Ubsl wadl Yoo luse Z 2Ll

NH,
J::?J NaNO,/HCl z CuyBr;
Br— X 273-278 K
HNO;
Options:

Br

Br

Question Number : 43 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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The major product (Y) in the following

reactions is :

CH,

CH;—CH-C=CH

(i) C;HsMgBr, H,O
(ii) Conc. HySO, /A

Options:
CH;—C=C—CH,4
I
1 CH,CH,
CHj

I
CH; —CH—-C=CH,
I

9 CH,CH,
L
CH;—CH—C=CH —CHj
|
3. CHs
I,

HiC- CCH ACH;
|
1 C,H;

Question Number : 43 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

H-,0

e arfuferansti & 93 32 (Y) #
e HgSO,, H,SO
| ;i h

CH,—CH—-C=CH- ¥ 274,

(i) C;HsMgBr, H,O
(ii) Conc. H,SO4/A

H,0

gcollegeduniag
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Options:

s
CH;-C=C—CH;,
|
1 CH,CH,
CH,

|
CH;—CH—C=CH,
|

2 CH,CHj,
o
CH; —CH—C=CH—CH,
|
3. Hy
CH,

H,C— C—CH—CHs
|
4 CoHs

Question Number : 43 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

Al 2 Wil o Hluse (Y) 20l

CHj,

| HgS0y 1150,

CH;—CH—C=CI
H,0

(i) CoHsMgBr, H,O
(ii) Mg, H,50,4/A

Options:
CH4

|
CH;—C=C—CH,
|

1 CH,CH,

gcollegeduniag
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CHs
CH;—CH—-C=CH,
I

5 CH,CH,
s
CH;—CH—-C=CH-CH,4
I
3 CH;
:ilj 1,

HyC—C—CH—CHjy
I
4* CzHE

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The correct order of heat of combustion

for following alkadienes is :

@ ~
® ~
© / \
Options:

1 ©<®b)<@
9 (b)<(9)< (@)

3 @<©<®)

gcollegeduniag
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4 @<®<E

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

=1 Ueres ¥ foU <29 5o =1 98 %9
T

@ ~

® ~

© /

Options:

1. ©@<(b)<(@)

2. (b)<(c)<)

3. (a)<(c)< ()

4 @<®)<(©)

Question Number : 44 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Al 2uesisday Al ged Gl Wl 53

UL :
(@) /_:r’
© /N~

Options: .
collegedunias
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1. ©<®b)<@)

2. (b)) <()<(a)

3 @<©<®)

4 @<®)<E)

Question Number : 45 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

Identify (A) in the following reaction

sequence ;

() CHaMeBr Os/ZnH,0

(A)  —
Gives (ii)HT, HyO
Positive (iii) Conc. H,50,/A 0
iodoform Il
test il & ~H
‘*—?T CH
Hie OO
CHj,
Options:
- I"'\-_ -‘}
B e S
1 o CHj
CH,
OP!

gcollegeduniag
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Question Number : 45 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

= aAfuf@d=n s\aFa 9 (A) F1 729H
Hifaw

) OCHMeBr o Oy/ZnHO

gres (i) HY, HO
sz (i) 7% HpS0,/ A Q

& <A @ (\rcﬁH

o
HC ¢ C‘
CHj
Options:
.-"-.—" o ’x‘“m
&2
1 O° ~CH,
CH,4
N~ CHs
OP L

gcollegedunla
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Question Number : 45 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
Alzl e wls Aellul (A) 2ol

(A) @ CHMeBr O3/ZnH0

gSRICUS (i) HY, H,O
RSB (i) Hig HaSO./A
WL =0y 9 |

I\_/ — C‘:HS
i C=0
CH,
Options:
APt
L ot
s — g
1 0~ TCH,

gcollegedunias
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Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

Question Number : 46 Question Type: SA
Correct Marks: 4 Wrong Marks: O

The molarity of HNO, in a sample which
has density 1.4 g/ mL and mass percentage
of 63% is _____ . (Molecular Weight
of HNO,=63)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

14to0 14

Question Number : 46 Question Type: SA
Correct Marks: 4 Wrong Marks: O

34 gfaewl H, foo® 999 1.4 g/mL a0
FEHM Ffawrdl 63% =i 2, HNO, =i Hierdd

U _ (HNO, 1 :HR=63)
Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:

141014

Question Number : 46 Question Type: SA
Correct Marks: 4 WrongMarks: 0

2
405036125
Yes

gcollegedunias
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14 g/mL ®edl @A 63% 501 2519l 81l
25 YAl HNO, Al Hleukilef s
(HNO, =gz =63)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

14t014

Question Number : 47 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

How much amount of NaCl should be
added to 600 g of water (p=1.00 g/mL) to
decrease the freezing point of water to
-02C? . (The freezing

point depression constant for water=
2K kg mol 1)

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

1to2.01

Question Number : 47 Question Type: SA
Correct Marks: 4 WrongMarks: 0

600 g Tt (p=1.00g/mL) H NaCl =i fahat
|1 e S T 35e feqis 22 — 0.2°C
& 9?7 | (9t % fau fewiw
AT Feori =2 K kg mol 1)

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

1to2.01

Question Number : 47 Question Type: SA
Correct Marks: 4 WrongMarks: 0

welld srel [BEHl —0.2°C Al u2wsl sl we
NaCl -l 524l 22l 600 g el Gel us
o . (p=1.00 g/mL) well W s12el
(615 2istd 2unis =2 K kg mol 1)

Qcollegedunias
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

1to2.01

Question Number : 48 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

108 g of silver (molar mass 108 g mol ~ 1) is
deposited at cathode from AgNO;(aq)
solution by a certain quantity of electricity.
The volume (in L) of oxygen gas produced
at 273 Kand 1 bar pressure from water by

the same quantity of electricity is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

5.66 t0 5.68

Question Number : 48 Question Type: SA
Correct Marks: 4 WrongMarks: 0

us fafead faega = g/ AgNO,(Fefa) 3
108 g THE=R (e Z=99H 108 g mol 1)
Feire W eraa v ) faga =1 =69 amn
BRI 273 K 791 1 91 =& T F9/41 T3 ST
F1 Fa (L H) B0

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

5.66 t0 5.68

Question Number : 48 Question Type: SA
Correct Marks: 4 WrongMarks: 0

AgNO;(aq) L gL [Ssreiis AL 245534 sr2l
48 108 g (e (2igl) (lez 51108 g mol 1)
BS YR oL A . [Eermeiel @iedler seral
4% 273 K 244 1 bar gettel well szl 2As4sr+
ARy A %2 & ([Eeul) Goumt usl

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Qcollegedunias
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Answers Type: Range
Possible Answers::
5.66 to 5.68

Question Number : 49 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The hardness of awater sample containing
10 * M MgSO, expressed as CaCO,

equivalents (in ppm) is

(molar mass of MgSO, is 120.37 g /mol)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

100 to 100

Question Number : 49 Question Type: SA
Correct Marks: 4 WrongMarks: 0

10 ~3 M MgSO, a1 Siel & Ufaesl =l HSdl
e CaCO, H99ed (ppm¥) 9= 4
S 9, BFT —

(MgSO, ¥ Hier Hefd=120.37 g/mol)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

100 to 100

Question Number : 49 Question Type: SA
Correct Marks: 4 WrongMarks: 0

10~ 3M MgSO, “aiscl Wl =15 3yl
sélddl CaCO; A de & o ppm i g2lial

(MgSO, -+ ¥ez g1 =120.37 g/mol)
Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes
Answers Type: Range
Possible Answers:
100 to 100

Question Number : 50 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The mass percentage of nitrogen in
histamine is

Response Type: Numeric
Evaluation Required For SA: Yes

Qcollegedunias
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Show Word Count: Yes
Answers Type: Range
Possible Answers:

Question Number : 50 Question Type: SA
Correct Marks: 4 Wrong Marks: O

fe2fim § Ageism 1 =99A yfdead ©

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 50 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

[@zrud-ul AWeio--l su esinsl aiial

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Mathematics
Section Id : 40503677
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 100
Sub-Section Number: 1
Sub-Section 1d: 405036126
Question Shuffling Allowed : Yes

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If for all real triplets (a, b, ),
f(x)=a+bx+cx?; then Li f(x)dx is equal

to:

Options: gcollegedunias
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(2}

|r 1

5 %{f{l} (3|

.2{3}‘(1} | Ef{%]}‘
e o)

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Afe |Hl ardias B#1 (a, b, ) F faw,
f(x)=a+bx+cx? T, j.;_,lr_(l}dl T E

Options:

3 %{f{ﬂ} * f[ %]}

, stz

é{aﬁ;n 1 zf&J}

" %«{f{m FF() 4 -Lf{%]tf

Question Number : 51 Question Type: MCQ Option Shuffling: Yes

gcollegedunias
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Correct Marks: 4 WrongMarks: 1
825 didlds Byzlal (a, b, ¢) w2, =

f(x)=a+bx+ca? ¢id, dl J{:.Hﬂdx

Options:

e

KV

o oY)

.2{3 £(1) 4 Zf[ %J}’

4 %{ﬂm )+ [iJ}

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The number of real roots of the equation,
ey et gt et +1=01is:

Options:

1.1

gcollegedunias
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Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

THTF IO e 3% 42X f ¥4 1=0 &
Options:

1. 1

I

2.

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Wlszel efr e —4e2i b et +1=0 Al
qiclels eflogl 2dva sedl 2

Options:

1. 1

e
(i

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 Qcollegedunias
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Let z be a complex number such that

z I. 4
Z+ 2N
and |g| _ 3 Then the value of |z +3i| is
2
Options:
15

1. 4

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

z -7
Z+ 2

HA 2 U U afmg gEn g, R

T A || = % T Az 431 TMEAAE

Options:
15

1. 4

2. 2

R~

Qcollegedunias
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Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

z—1
z + 24
A ., ol [z+31] Al Bud

352 vyl z W2 =1 244 2| =

Options:
15

1. 4

2. 28

YN

4. V10

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

1 ¥ 2
If the matrices A= |1 3 4| B=adj A
1 1 3
and C=3A, then :ail%_ﬂ is equal to :
Options:
1. 2
2. 8

gcollegedunias
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t.h.
~1
3

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

1 1 2
afg Ar=ge A=|1 3 4|, B=adj A T
1 -1 3

C=3A% @ éa‘_gﬁf FHA S

Options:

i; 2

4. 7

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

1 1 2
o Bellsl A=|1 3 4|, B=adj A

I =1 8

bt - d Bl
C—sadua®i._
C

Options:
1. 2

gcollegedunias
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Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If for some a and B in R, the intersection

of the following three planes

x+4y—2z=1
x+7y—5z=p
x+5y+az=>5

is a line in R>, then a+B is equal to:

Options:

1. - 10

2 ™

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

gcollegedunias
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afg R d fFel o 901 g F fau, f/= 9=
&

xt+4y—2z=1

x+7y—5z=p

x+5y+az=>5

1 fsged, R H U W@ 2, 9l a+ B 1 94
£

Options:
1. —10

4. 10

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

ol 5195 o, B e R W2 0L H¥ddl

xt+4y—2z=1

x+7y—5z=p

x+5y+az=>5

AL 55 =l RP Al 25 2wl ely, dl
atp=_. .. . .

Options:

1. —10

2.0
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Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If the number of five digit numbers with
distinct digits and 2 at the 10t place is
336 k, then k is equal to:

Options:

1. ®

4, 4

Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

oI SEE T {2 ¥, FT HE336k B, Tk
T

Options:

1. &

gcollegedunias
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Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

syl £215HL 22 2 2l Sl 2 “dls 2151
[Bimd @i aell wim 2isiHl vl dval s

336 k ¢4, dl k=

Options:

1. 8

Question Number : 57 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

The product
B R L
24 . 416 - 8§48 . 161F -
is equal to :

Options:

1 1

1
2. 22

to =

Qcollegedunias


Stamp


e
(S

hJ
e |

4.

Question Number : 57 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

1 1 1 1
MUTATRE 24 - 416 - 48 . 161F
T E

Options:

T, 2

Correct Marks: 4 Wrong Marks: 1

Question Number : 57 Question Type: MCQ Option Shuffling: Yes

1 1 1 1
UBUSR 24 - 476 - 38 . 16128
Bu sedl i ?

Options:

1‘1

b~o

L]
b
] vt

e ydl Al

= s =

GED
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Question Number : 58 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

sin(a + 2)x + sinx

f cx <0
\ X

It f(x)=1 b =
] B 1: 1:
[E+ay=— e
t x/3

is continuous at x=0, then a + 2b is equal
to :

Options:

1. -1

2.0

Question Number : 58 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

isin(a + 2)x + sinx

i ——

. rx <1
Ffe f(x) = { b st =14

| (x 2308 04

:(.1}3.1 1 X oY

| 273

xzﬂmﬁﬁﬂ%, da+2b FHEAE
Options:
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Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

i

|sin(a + 2)x + sinx

- rx <0
| X

sl f(x) = 4 b x =1
L et R

| Hy
| x 3

w r=0 22N Hdd ¢ld, dl a+2b

Options:

1. -1

Question Number : 59 Question Type: MCQ Option Shuffling: Yes Qcollegedunias
Correct Marks: 4 Wrong Marks: 1 TS trses Susnt e ptrn


Stamp


A spherical iron ball of 10 cm radius is
coated with a layer of ice of uniform
thickness that melts at a rate of 50 cm® / min.
When the thickness of ice is 5 cm, then the
rate (in cm/min.) at which of the thickness

of ice decreases, is :

Options:

1. 36w

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Eﬂ?lﬂcmﬁ?mmFﬂWﬁ%ﬁﬁaﬂﬁ
% &1 TH GHA HI=2E Al 7 8 99
T 2, 9 % 50 cm®/min #1 20 § fyserd
& | 59 9% 1 9 HI AL2E 5 cm ¥, 39 99
9% i HIZTE % 24 $1 &% (cm/min H), &

Options:
i

1. 36r
5
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Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

sg-ll Clsatl 10 2l €M detl divisHl 2iusi
ol 2AsaiA sastd 2 ddl Zla clrsl 2z <
2 sveEl 2uda 89, o 50 2HL3 /Bl A
22 2l bl 5. sl orsHl sastd) 5 3L iy,
U2 oizsAl sastd-l desidl g2 (3L / BlAza)
Sed !

Options:

1. 36w

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

gcollegeduniag
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Let f be any function continuous on [a, b]
and twice differentiable on (a, b). If for all
xe€(a b), f'(x) >0and f"(x) <0, then for

any c € (a, b), % is greater than :
Optiqns:
b—¢
1, €—a
C= 8
2. b—g
3, &
b+ a
4] b-a

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

HAT f 1% FeH € Sl [a, b] § Haa ao
(a, b) ® 2 IR FATFHE 21 A T
xe(a,b) FEATC £ (x)> 0T f'(x)<0 & 7

fHT o ce (a, b), & oW [ /@) g

f(b) = f(c)
H Y frad T g?
Option.s:
b-c

gcollegedunias
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Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

4RLE 519 [GA4 f 2 [a, b] 4l Hdd 24 (a, b)
dig-sadl 5. sdxe(a, b) w2 f'(x)>0
2 (%) < 0 €14, ol 51E48L c e (a, b), HE

f0)~ £ Dol et s s &
L el sttt sl HE SiL)
f(b) — f(0) *
Optiqns:

b—rc
{1 £==

c— a
A b-c
3 1

b+ a
/], b-a

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If f'(x)=tan " !(secx + tanx), '21{3::: %,

and [(0)=0, then f(1) is equal to:

Options:

gcollegeduniag
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Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

afg f'(x)=tan " !(secx +tanx),

-E"'{x{ = FAAf(0)=0 T, @ f(1) W]

2

HFT%:

Options:

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 gcollegedunias
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sd f'(x)=tan ~!(secx + tanx), % Lx2
2 £(0)=0 €4, di f(1)=

Options:
™ 1

1. 4

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
, dx :
The integral J a7 57 18 equal
(x+4)7 [x —3)7

to :
(where C is a constant of integration)

Options:

gcollegeduniag
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) L
3 x+4)

i[““ 3\|_IE|1C
4' 11 \_I}'-i:).l

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

T

6

(x +4)% (x — 3)%

(S8 C T& GHFEA 39 2)

Options:
' 3
3,
i {x 3} FC
-I 2 \x +4)
1/
(x "ﬂ C
2 x 4;
(I 3w|‘ﬁ'§| "
3 X =+ 4J
1 (1 Y, ¢
4 13 \x+4)

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
T dx
dsan | o — l Bud orer
(X -+ a2y |x—3)7

(sl C 2| dstnrl = unis 5)

Options: .
collegedunias
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Y
*
I

oo kW
255 “C
2* /
1
x '3;\. ’7
+ C
[_l }4,]

X

13/
L (x=37"%
— 2B

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

x :?»i_n{“g x

2
The value of J T 3
g Sin- x + Cos X

-
(1]

dx is equal

to

Options:
1 4

22':1'

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
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J " xsin®x

— —dx FAAE :
g 5N X t Ccos X

Options:

3_ 22

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

27 . B
: xsin” x =
o5 G j - —dx Al [(§ua
0 sin" x + cos x
vy Ak
Options:
1 417

>
%

Question Number : 64 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
gcollegedumas
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Let C be the centroid of the triangle with
vertices (3, —1), (1, 3) and (2, 4). Let P be
the point of intersection of the lines
x+3y—1=0 and 3x—y+1=0. Then the
line passing through the points C and PP also
passes through the point :

Options:
1. &%
2. )
3. P
4. (-9, -6)

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

A 9l (3, —1), (1, 3) T2 (2, 4) 9l e
1 FEF C T A W@ x+3y—1=0 91
3x —y +1=0 1 Wfa=wed fag P &, @1 fargail
C 1 P | T aret o, e 1 |1 5 fag

H of ot 272
Options:

1. (7.6)

9. (-5:—9
3, &

4. (-9, —6)

gcollegedunias
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Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

s (3, —1), (1, 3) 211 (2, 4) Brilbg«
Al Bsled wedses C 6. aRlL 5 Juil
x+3y—1=0 2 3x—y+1=0 o &5 P
9. dl [Bigail C =i P el wm adl e =
Al2iAl s Clguizl wel v 2317

Options:
1. (7.6
9 (=9, -7)
3. 9.7
4. (-9, —6)

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A circle touches the y-axis at the point
(0, 4) and passes through the point (2, 0).
Which of the following lines is not a tangent
to this circle ?

Options:
1 3x—4y—24=0

2 3x+4y—6=0
3 dx +3y—8=0

4 4 —3y+17=0

gcollegedunias
||||| s largest Student Review Platform


Stamp


Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

UF F9 y-A4 g (0,4) W o w @
a1 fag (2,0) E T g1 = H F
T Y 59 J 1 T o el @ 7

Options:

T 3x—4y—24=0

2 3x+4y—6=0

3. 4x+3y-8=0

4. Ax—3y+17=0

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

25 a4 y-218 A (G5 (0, 4) Hirwel © 2[5
(2, 0) Higll vz w5, dl AR wisl 59
vl 2L Al 2uels 4l?

Options:
1 3x —4y—24=0

dx+4y—6=0
2 vy

9 4x+3y—-8=0

4, 4-3y+17=0

gcollegeduniag
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Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

If e and e, are the eccentricities of the

2 2

ellipse, ’;—8 | T =1 and the hyperbola,

=

i 5
. . _
P 3 = respectively and (e, e,) is a

9 4
point on the ellipse, 153:2+.3y2=k, then k
is equal to :

Options:

1. 17

7 16

4. 14

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

2 .2
Hﬁelﬂmezm:?ﬁﬁﬂﬁ;—g : L’T=1

-

2 2
H‘E’HWL 3’?=1ﬁm@

T A (e, e) H’tﬁiﬁﬁ 1522 +3y2=k W feerm
TFfag e Tk FIAAE

Options:

1. v

2 16

Qcollegedunla
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4,

Question Number : 66 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
2

) 2
o oy 2l ey 9 wefsdl Guaen 2+ L =1
3 18 4
- .xz . - _—
ot et = 3’? = 1+l Gegizil di,
2 (), e,) # Buaad 1522 + 32 =k W (45
g1, dl k= )

Options:

1. 17

Question Number : 67 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
In a box, there are 20 cards, out of which
10 are labelled as A and the remaining
10 are labelled as B. Cards are drawn at
random, one after the other and with
replacement, till a second A-card is
obtained. The probability that the second
A-card appears before the third B-card is :

Options:

gcollegedunias
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15

1 16
13
2. 16
i
316
9
4. 16

Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

U T H 20 H1E 2 foE ¥ 10 W A e
faa T & 9 919 10 W B #Hfwa fommn g
T H I A5l UF & 9% U (A
Hfed) FIE a9 9% HHTel T 59 T o ga
A 9 3ifehd #T1E 9 31 90| TH A 9§ sifFa
FE F 9 B F AfFa w12 9 TBdl aH =

oIl 2 ;
Options:
15
1. 16
13
2 16
i
3. 16

Qcollegedunias
.....


Stamp


Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

25 B 20 Yol &, il 10 A A %

et seel 2L 8§ 2 AslHL 10 4 B

il szl 2ue 8. sl yell ol duid udd

A A ous ool el 245wl =i wl yraell wléd

qECEs {ld viusdrl 208 8. dl ={lw duid ud

B 2d o Ul o{loy vidt U A 241 el dieicel

Sedl WA ?

Options:
15
1 16

13

by & |
3. 16

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

gcollegedunias
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Let the observations x (1 = i = 10) satisfy

10
the equations, ;(xi. 5)=10 and

i=1

10

Y (x; — 5)* =40. If pand A are the mean
1=1
and the variance of the observations,
- T 3 x2—3, = x.m—S, then the ordered

pair (., A) is equal to :

Options:

1. 6.6)
2. G.6
3. 63)

4. &3

Question Number : 68 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

AT 9T x (1 = i = 10) FHIEHIOW
10 10 9 .
3(x —5)=10 T } (x; —5)° =40 F
i=1 i=1

T FA ¢ | A TN, Tequii x, —3, 1, -3,
ey Xy — 3 o SHHIL: HIEF T HEA01 €, 1 SHHA
I (p, A) TR

Options:
1. 656)
2. (6

gcollegedunias
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3. 69

4. 43

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

QRlL 5 2edisdl x(1 = i < 10) 2 w{lsel

10 10 :
S -5=10 21 Y (x; —5° =40
i=1

i=1
HHEA 53 O, od p 24 A 2L 2EdisHl x, -3,
Xy =3, i, Xyg—3 Al 2igsH HeMs i [HRel
1, ol 5345 6AS (j, ) “RIR ¢

Options:

1. (6, 6)
2. (3,6)
3. (63)

PICE)

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The value of

—_— o R o
c053('—'J : cos[:ﬁ—"j + si_na{'_'/l : 5111{3_"J
8 8 ¥ . 8

is:

Options:

gcollegedunias
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=]
51

H
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Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

CDJL%J - cm{%} 4+ sin® l\%H]
FHA T :

Optiong:
=R
1, 2

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

L1

- §in —J

i F“I'"_T"'

8

gcollegedunias
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. 3 ) 3 3 1) 3
CoS [—J . CDS[ J + sin L—J - sin
\ 8 8 8

o e seq wM)

W
]
91

L.h.
rF-lH'

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Negation of the statement :
* J5is an integer or 5 is irrational is :
Options:

1 *«.'Jg is irrational or 5 is an integer.

V5 is not an integer or 5 is not
7  irrational.

V5 is not an integer and 5 is not
7 irrational.

A V5 isan integer and 5 is irrational.

gcollegedunias
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Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

o,
/5 UH qUuis & A5 i g o e
e

Options:

1. 5 i ¥ a5 e i

J5 U quitE @ & @ 5 ey e
5 Bl

5 T quits @ ¥ 3 5 st
3 I

4 5 T ¥ SR s s #)

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

CHT!
U5 Byells vl & a5 S vl v
69" o (e o] 2 )
Options:
5 B wdiin v B @il 5 9 yels
1. v,

V5 @ yells dval A2l 2L 5 o] vy
3 vy el

gcollegeduniag
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V5 2 yells dval A2l 2 5 B wR{Ry
3 vy el

V5 wyells dval § @i 5 W wpiiy
4, Hvas.

Sub-Section Number: 2
Sub-Section 1d: 405036127
Question Shuffling Allowed : Yes

Question Number : 71 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The coefficient of ¥} in the expansion of
(1+x+x9)0is _

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 71 Question Type: SA
Correct Marks: 4 Wrong Marks: O

(1+x+x3)10 F gar & x* 1 TF 2
|

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 71 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

(1+x+22)10 Al [Eadzemi x* Al Uerles
. - )

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:

gcollegedunias
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Question Number : 72 Question Type: SA
Correct Marks: 4 Wrong Marks: O

The number of distinct solutions of the

equation, log%gmx =2 lng%cnsx n

the interval [0, 27], is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 72 Question Type: SA
Correct Marks: 4 WrongMarks: 0

THHL -lnglsinx = 2 - log|cosx %

AW [0, 2] W 91 2=l *1 G 2
Is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 72 Question Type: SA
Correct Marks: 4 WrongMarks: 0

sl [0, 2w] Wl uMls:a
-loglsinx = 2 — log;|cosx Al (G G3al

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 73 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

gcollegedunias
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If the vectors, p = (a 4 1}';'. } a;r' Fak ,

E:a? F(a 1};

— )

...
Il

[EE— 2
coplanarand 3{p - q) A

2
— —
rxq‘ =10;

then the value of A is

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

ltol

Question Number : 73 Question Type: SA
Correct Marks: 4 WrongMarks: 0

afe  #fgw Ez(al]}? | a; b

q =ai +@+1)] +ak e
_1"=a'; Ia} I (ail}gafaﬁﬂ}m
i .'—} — ) - —}2

%Wfﬁtp'q_] hrxq‘ —0 & @A

FIHA 2 t

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers :

ltol

Question Number : 73 Question Type: SA
Correct Marks: 4 WrongMarks: 0

'ﬁ'.
™y

A ulkwl  p=(at1)i +aj +ak,

— A s

q=af|{a|l};la£ e

— A

r =af 4 af F(a }I}L (a € R) Huddld

. 2 2
€1, ’“t:l.."z'r[p'q. thq‘ =0 &3
dl A -l Bud 2L,

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

|ﬂk and

ai +aj +(a+1)k (a € R) are

gcollegeduniag
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Answers Type: Range
Possible Answers::
ltol

Question Number : 74 Question Type: SA
Correct Marks: 4 WrongMarks: 0

If for x = 0, y=y(x) is the solution of the
differential equation,

(x + Ddy=((x +1)2 +y—3)dx, y(2)=0,
theny(3)isequalto

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

3to3

Question Number : 74 Question Type: SA
Correct Marks: 4 WrongMarks: 0

gz x = 0 F fau y=y(x), FAIFA THF
(x+1)dy=((x +1)*+y—3)dx, y(2)=0,
TAE, Wy(3) FAAE t

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

3to3

Question Number : 74 Question Type: SA
Correct Marks: 4 WrongMarks: 0

s x = 0 42 y=y(x) @ [[sa wdlsae
(x+1)dy=((x+ I}Z-I-y —-3)dx, y(2)=0 Al
Gie €, ol y(3)

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

3to3

Question Number : 75 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

The projection of the line segment joining
the points (1, —1, 3) and (2, —4,11) on the
line joining the points (—1, 2, 3) and
(3, —2,10)is

L

Response Type: Numeric
Evaluation Required For SA: Yes

gcollegedunias
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Show Word Count: Yes
Answers Type: Range
Possible Answers:

8to8

Question Number : 75 Question Type: SA
Correct Marks: 4 Wrong Marks: O

fagall (1, —1,3) 7 (2, —4, 11) F1 HaH

ard 1@Ergve F fagaE (-1, 2, 3)

(3, —2, 10) =1 e =rell @ = wey 2
1

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

8to8

Question Number : 75 Question Type: SA
Correct Marks: 4 Wrong Marks: O

[Ggl (1, —1,3) 24 (2, — 4, 11) A sdSell TuviS
Al (G2l (—1,2,3) 2 (3, — 2, 10) sdsell 2ui
Yardl WA 2L,

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

8to 8
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